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Integrate the following with respect to x: [14]
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Integrate the following with respect to x: [14]
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Evaluate the following definite integral. [14]
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Evaluate the following defipite integral. [7]
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If the marginal cost of a product is 200 — 3x> and the fixed cost is Rs. (7]

700, find total cost function and average cost function,

%t $I5 dadt x Geuls W2 Rnia wad [[Raa 200 — 3,2 Sy, Alssw w2 31 700 &
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Discuss the limitations of linear programming. (7]
Y3w virllor-l] Hufei yal,

Solve the following LP problem using graphical method: (7]

Maximize Z =6x; + 7x, Subject to 2X1 + 4%, <48, 4%, + 2%, <60 and
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Explain: (i) Constraints (ii) Feasible solution (iii) Objective function. [7]
uwestal: (i) wlaoiel (i) asu G3a (iif) qael Ra,
Solve the following LP problem using graphical method: (7]
Minimize Z = 5000x + 7000y
Subjectto  100x + 120y 2 5000, 200x + 120y > 6000,

200x + 400y > 14000, x, y 2 0
ll-u a3ut 2ol axal 63e 2udu) 3 Andi:

100x + 120y > 5000, 200x + 120y > 6000, 200x + 408y > 14000, x, y 2 0
A 20l 2l Z= 5000 + 7000y ) B 2urian g

Solve following transportation problem us{Ag (i) Vogel's Approximation [14]
method {ii) Matrix Minima method:

02 20104 A caasiz-) aupui 634 il abiad siefa 23 (i) “untdy Al@s)
Ad Aadl.

P 5] R S | Supply {42asl)
A - 8 7 3 4 200
B 3| 8 9 6 155
C 2 4 5 9 145

Demand {¥i%) | 100 | 100 | 160 | 140

OR YAl

Maximize Z = 5x + 8y by Simplex method subject to the following [10]
constraints:

D lasiaiA 2R Rwudardl Qael 7 = 5x + 8y A wedy odl:

X+2y<80, x+y<50, x,y=0,

Explain North West Corner method. (4]
ctuey vaus) Ad wuodl, '
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(i)  Hitesh invests Rs. 5000 for 2 years at 10% compound rate of [14]

interest. How much interest he will get?
[Rd2l 31 5000 < A58 10% - AsqlEn 2 oy w2 53 9. di d 324 av)
Haasl,

{iiy  Find the difference of compound interest and simple interest of
Rs. 5000 at 10% for 3 years, if compound interest is calculated at
each 6 month.
ofl asqalEa, ol a@ad 62 & WA seami wd di 31 5000 U 10% avl 3
e+l UsaB8 @19y 1A AL A9l dStel, el

(iii) Explain effective rate of interest with example.
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Write a short note on: (i) Annuity (ii) Debentures
dsiaa (i) wluSd  (il) Road
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